2B14
n

1 2 3 4 5
? 1,2 2 1,2 3,4 5
C82
(UPS)
UPS
UPS
(1)
)
M2 M2C2
UPS BL-8B2
M2 C3v-Y2@C82, (C3v-Lu2@C82 ), C2v-Lu2@C82
M2C2 Cs-Y2C2@C82, C2v-Y2C2@C82, C3v-Y2C2@C82

C2v-Lu2C2@C82
C3v-Ti2C2@C82
C78 D3h-Ti2C2@C78, D3h-La2@C78

C82 UPS



UPS
<I>M2 (M=Y,Lu)

Y2@C82 C3v Lu2@C82 C2v
C3v-Lu2@C82 Cc82 C2v
C82 C2v-Lu2@C82 UPS C2v-Th@C82 UPS

<2>M2C2 (M=Y,Lu,Ti)

Y2C2@C82 (1Cs, (I1)C2v, (111)C3v
UPS 3P043
C2v Y2C2@C82(I) UPS  C2v-Lu2C2@C82
UPS C2v-Lu2@C82, C2v-Th@C82 UPS
c82
C3v-Y2C2@C82(111)
UPS C3v Ti2C2@C82
C3v-Y2C2@C82
Ti2C2@C82
<3>C78 (M = La, Ti)
c78 D3h-Ti2C2@C78

D3h-La2@C78
D3h-Ti2C2@C78
D3h-La2@C78
UPS



